 
B.Com. DEGREE EXAMINATION, APRIL 2018.
III YEAR  VI SEMESTER
Core Elective- Paper II  -  FINANCIAL MANAGEMENT

Time : 3 Hours													Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12) Answer any  TEN questions


1. What is Financial Management?
2. Write a short note on Interim Dividend.
3. What is meant by Capital structure?
4. What is Leverage?
5. State the meaning of management of cash.
6. What do you mean by Dividend?
7. What is Working Capital?
8. Write a short note on Capital Budgeting.
9. What is Capital expenditure?
10. Find out the economic order quantity from the following particulars:
                     Annual usage: `1,20,000
                       Cost of placing and receiving one order: `60
                       Annual carrying cost = 10% of inventory value.
11. A Project costs `5,00,000 and yields annually a profit of `80,000 after depreciation at 12% per   
       annum, but before tax at 50%. Calculate Pay Back Period. 
12.  Ajith Ltd. has a stable income and stable dividend policy. The average annual dividend payout is `25   
      per share (Face value: `100) you are required to ascertain Cost of equity capital. 

SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions

13. What are the objectives of financial management?
14. What are the sources of long term funds?
15. From the following information, calculate (a) Debtors turnover ratio; (b) Average collection period.
	Total sales during the year
	`4,20,000
	Debtors in the beginning
	` 55,000

	Cash sales during the year
	`1,50,000
	Debtors at the end                                     
	`45,000

	 Returns inward	
	`20,000
	Provision for bad debts                              
	`5,000





16. Project M has an initial investment of `3,00,000. Its cash flows for five years are `90,000,   
       `1,08,000, `90,000, `79,200 and `72,000. Determine the discounted payback period        
       assuming a discount rate of 10% p.a. (P.V. factor at 10% is 0.909, 0.826, 0.751, 0.683 and 0.621 for 
       five years respectively). 
 (
[P.T.O.]
)


17. Nacho Ltd. has issued 40,000 shares of `10 each fully paid. The company has earned a profit of `40,000 after tax. The market price of these shares is `16 per share. The company has paid a dividend of `0.80 per share. Calculate the cost of equity on the basis of (i) Dividend yield method; and (ii) Earnings price method. 
18.  Project K requires an investment of `20 Lakh and yields profits after tax and depreciation as follows:
	Year
	1
	2
	3
	4
	5

	Profit after tax & depreciation (`)
	1,00,000
	1,50,000
	2.50,000
	2,60,000
	1,60,000


          At the end of 5th year, the plant can be sold for `1,60,000. You are required to calculate Average rate of     
   return (ARR). 
19. From the following information relating to ABC Ltd., calculate (a) Operating cycle, (b) No. Of operating cycles in a year assuming a 360 day year and (c) Average working required, if annual cash operating expenses are `150 Lakh.
Stock holding:
Raw materials		                         :	          2 Months
				W.I.P			                         :	         15 days
				Finished goods		                          :	1 Month
Average debt collection period		:	2 Months
Average payment period			:	45 days

SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions

20. [bookmark: _GoBack]Compute the Working capital requirements of Raj Ltd. from the information given below:
Annual sales `14,40,000
Cost of Production (including depreciation `95,000)	        `12,00,000
Raw materials purchases						`7,02,000
Overheads per month						         `32,500
Anticipated opening stock of raw materials			`1,43,000
Anticipated closing stock of raw materials			`1,30,000
Inventory norms:
Raw materials				        :	8 weeks
Work-in-progress				        :	2 weeks
Finished goods				        :	4 weeks
Credit allowed to debtors			:	4 weeks.
Credit allowed by creditors			:	2 weeks
Cash balance desired to be maintained	:	`25,000
The company received an advance of `40,000 on sales order.

21. Aruna Ltd. is considering the purchase of a new machine which will carry out some operations performed by labour. A and B are alternative models. From the following information, you are required to prepare a profitability statement, and work-out the pay-back period, Net present value and  profitability index:
	
	      Machine A
	      Machine B

	Estimated life (years) 
Cost of machine (`)
Cost of indirect materials (`)
Estimated savings in scrap (`)
Additional cost of maintenance (`)
Estimated savings in wages:
            Employees not required (number)
            Wages per employee (`)
	             5 
        1,50,000
          6,000
         10,000
         19,000

           150
           600
	            6
       2,50,000
         8,000
        15,000
        27,000

           200
           600


               Assume tax rate at 50% and cost of capital 10%. Which model would you recommend?

22. Discuss the factors affecting the dividend policy of a company. 
23. From the following data forecast the cash position at the end of April, May and June 1998.
	     Month 
      1998
	     Sales 
       `
	Purchase
       ` 
	Wages 
    ` 
	Sales Expenses 
         `

	February
March 
April 
May
June 
	1,20,000
1,30,000
70,000
1,16,000
85,000
	80,000
98,000
1,00,000
1,03,000
80,000
	10,000
12,000
8,000
10,000
8,000
	7,000
9,000
5,000
10,000
6,000



                     
                       





            Further information:
                        i) Sales at 10% realised in the month of sales. Balance equally realised in two subsequent   
                            months.
                        ii) Purchases: Creditors are paid in the month following the month of supply.
                       iii) Wages: 20% paid in arrears in the following month.
                       iv) Sundry expenses paid in the month itself.
                       v) Income tax `20,000 payable in June.
                       vi) Dividend `12,000 payable in June.
                      vii) Income from investments `2,000 received half-yearly in march and September. 
                      viii) Cash balance on hand as on 1-4-88 `40,000.
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